SUCCESSIVE   IONIZATION  ENERGIES
	Element
	1
	2
	3
	4
	5
	6
	7

	 
	
	
	
	
	
	
	

	Hydrogen
	1312
	
	
	
	
	
	

	Helium
	2373
	5250
	
	
	
	
	

	Lithium
	520
	7298
	11815
	
	
	
	

	Beryllium
	900
	1752
	14850
	21008
	
	
	

	Boron
	800
	2427
	3660
	25027
	32828
	
	

	Carbon
	1086
	2352
	4620
	6223
	37832
	47279
	

	Nitrogen
	1400
	2856
	4578
	7475
	9445
	53265
	64358

	Oxygen
	1312
	3388
	5300
	7469
	10989
	13326
	71332

	Fluorine
	1680
	3374
	6050
	8407
	11022
	15164
	17928

	Neon
	2077
	3952
	6122
	9370
	12216
	15238
	19998

	Sodium
	498
	4560
	6910
	9540
	13400
	16600
	20100

	Magnesium
	736
	1445
	7730
	10600
	13600
	18000
	21700

	Aluminum
	577
	1815
	2740
	11600
	15000
	18310
	23290

	Silicon
	787
	1575
	3220
	4350
	16100
	19800
	23800

	Phosphorus
	1063
	1890
	2905
	4950
	6270
	21200
	25400

	Sulfur
	1000
	2260
	3375
	4565
	6950
	8490
	27000

	Chlorine
	1255
	2295
	3850
	5160
	6560
	9360
	11000

	Argon
	1519
	2665
	3945
	5770
	7230
	8780
	12000


The elements are listed by atomic number; 1 to 18.  The numbers 1 to 7 at the top refer to the ionization energy for that electron.   This means that the value in the column labeled ‘1’ is the energy needed to remove the first outermost electron.  The value in the column labeled ‘2’ is the energy needed to remove the second electron AFTER the first electron has already been removed.   
The total energy therefore will be obtained by adding all of the individual energies.   All values in the above table have the units of kilojoules per mole (kJ/mole)
